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86-The new social behavior among young people is in part —-—- by the recent
changes in the of family life.
1) launched - layer 2) composed - feature
3) estimated ~ experience 4) caused - pattern
87-1 know you weren't there but, to - the meeting was useful.
) compare 2) summarize 3) organize 4) forecast
§8- He could have survived the if he had his seat belt on.
1) accident 2) valley 3) extinction 4) damage
89-She says that living in an urban area or a rural one does nof ——— a difference
to her,
[)do 2) bring 3) make 4) have

90-The man told me that the two computer programs were -—--- and that they
could be used .
) necessary - firmly
3) voluntary - efficiently

2) fashionable - immediately
4) similar - inferchangeably

| Part C: Cloze Test
Directions: Questions 91-95 are related to the following passage.

| Read the passage and decide which choice (1), (2), (3), or (4) best fits
| each space, Then mark your answer sheet,

Parents are advised to read to their children at preschool and early primary

levels. When they read fo a child from story books, comic strips of the better

type, and children's magazines, he becomes (91) that books, magazines,
and newspapers hold something (92) and amusement for him. He also
comes 10 (93) - that this “something” which he enjoys (94) ~erreeme-
within black and white symbols, and that these symbols can be discovered only
when one knows how to read. This awarcness and interest form a place from

(95) he can jump into learning to read in school, and into the reading of
self-selected books.

91-1) aware 2) amused 3) responsible 4) concerned

92-1) interest 2) interested 3) interesting 4) of interest

93-1) respect 2) realize 3) recall 4) rely

94-1) being included  2) including 3) is included 4) includes

95-1) it 2) that 3) which 4) where
WWW ,.cdsiran.com

I inde (igtes) )

Part A: Grammar

Directions: Questions 76-80 are incomplete sentences, Beneath each
sentence you will see four words or phrases, marked (1), (2), (3), and

(4), Choose the one word or phrase that best completes the sentence.
Then mark your answer sheet.

76~ She was wearing a shirt.
|} white and black silk beautiful 2) silk beautiful black and white
3) black and white beautiful silk 4) beautiful black and white silk
77-Tom selected a book which he knew was very complex - he wanted to
leave a good first impression on the professor.
|) since 2) although 3) so that 4) whereas
18- Our teacher usually makes all the students a lecture in the class,
1) give )10 give 3) be given 4) that they give
19-Ted was frightened when he got closer to the mountain; it was high.
1) such 2) 50 3) enough 4) such a
80-1 left a message on your answer phone last night, So you - informed about
the meeting,
|)shouldhave ~ 2)mighthave  3)musthave been  4) should have been

Part B: Vocabulary
Directions: Questions 81-90 are incomplete sentences. Beneath each
sentence you will see four words or phrases, marked (1), (2), (3), and
(4). Choose the one word or phrase that best completes the sentence.
Then mark your answer sheet,

81-You will lose weight and become weak unless you receive all the ~----—- your
body needs,
1) qualities 2) functions 3) devices 4) nutrients
§2- So far the police can only --—-—- on the possible reason for the killing.
|) research 2) influence 3) speculate 4) operate
§3- They have - the game; it is going to be - at another place later on.
1 take off - taken 2) put off - held
3) turned down - thought of 4) stuck in — waited for
§4- He did his best to his arm to reach the apple, but he couldn’t.

|) raise 2) attach 3) stretch 4) release

85-Two people talking together to reach an agreement can more easily achieve their
goal if they are a bif swee,
1) flexible 2) mental 3) economical 4) emotionless
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Part D: Reading Comprehension
Directions: Im this part of the test, you will read a passage. The

passage is followed by five questions. Answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark your answer
sheet.

Studies show that rapid increase in population growth creates problems for
developing countries. So why don’t people have fewer children? The information
collected from the developed countries suggests that it is only when people’s
living standards begin to rise that birth rates begin to fall. There are good
reasons for this. Poor countries cannot afford social services and old age
pensions — the money they get form the government when they become old and
can’t work — and people’s incomes are so low they have nothing to save for the
future. As a result, people look to their children to provide them with financial
help in their old age. Having a large family can be a form of insurance. And even
while they are still quite young, children can do a lot of useful jobs on a small
farm. So poor people in a developing country will need to see clear signs of much
better conditions ahead before they can think of having smaller families. But
their conditions cannot be improved unless there is a reduction in the rate at
which population is increasing. This will depend on a very much wider

acceptance of family planning and this, in turn, will mean basic changes in
people’s ideas.

96- What is the best title for the passage?

1) Reasons for Population Increase

2) Children’s Function in Poor countries

3) People’s Income in Developing Countries

4) Family Planning Programs in Developing Countries

97-According to the writer, people in poor countries have a lot of children mainly

98- The writer mentions that, before deciding upon family planning,

because .

1) they receive government support for every child

2) they rely on them for support during their old age

3) methods of family planning are not being practiced in those countries

4) they usually become involved with farming, which makes it easier for them to get their food

1) people in poor countries should be moved to urban areas

2) governments of poor countries should change people’s income and ideas
3) governments of developing countries must forbid parents to use child labor on farms
4) developed countries should help developing ones to improve their standards of living

99- The word “they” in line 10 refers to ——————

1) parents 2) people 3) family 4) children

100-For which of the following has the writer given a definition?

1) Pension 2) Insurance 3) Family planning 4) Population increase



